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QUESTION 1

Which three types of peer devices are supported for CoS-based IPsec VPNs? (Choose three.) 

A. branch SRX Series device 

B. third-party device 

C. cSRX 

D. high-end SRX Series device 

E. vSRX 

Correct Answer: ADE 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/secuirty-cos-basedipsec-vpns.html 

 

QUESTION 2

You are asked to set up notifications if one of your collector traffic feeds drops below 100 kbps. 

Which two configuration parameters must be set to accomplish this task? (Choose two.) 

A. Set a traffic SNMP trap on the JATP appliance 

B. Set a logging notification on the JATP appliance 

C. Set a general triggered notification on the JATP appliance 

D. Set a traffic system alert on the JATP appliance 

Correct Answer: BD 

 

QUESTION 3

You have noticed a high number of TCP-based attacks directed toward your primary edge device. You are asked to
configure the IDP feature on your SRX Series device to block this attack. Which two IDP attack objects would you
configure to solve this problem? (Choose two.) 

A. Network 

B. Signature 

C. Protocol anomaly 

D. host 

Correct Answer: BC 
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QUESTION 4

A user is unable to reach a necessary resource. You discover the path through the SRX Series device 

includes several security features. The traffic is not being evaluated by any security policies. 

In this scenario, which two components within the flow module would affect the traffic? (Choose two.) 

A. services/ALG 

B. destination NAT 

C. source NAT 

D. route lookup 

Correct Answer: BD 

 

QUESTION 5

Click the Exhibit button. 

Referring to the exhibit, what is the maximum number of zones that are able to be created within all logical systems? 

A. 74 
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B. 34 

C. 40 

D. 17 

Correct Answer: C 
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